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1.  If you add energy to an object with a large specific heat, would you expect to observe  

     a  relatively  SMALL  or  LARGE  increase in temperature.
2.  People will often blow on a hot bowl of soup or a cup of hot coffee to try to cool it off.
    Circle the two energy transport processes below that you think would carry the most energy   

    away from the hot liquid and cause the most cooling?

    conduction

convection

latent heat

EM  radiation
3.  Which of the following is the hottest temperature?     100o C      200o F      300 K
4.  A city on a sea coast will usually have  WARMER  COLDER  summers and  
    WARMER  COLDER  winters than a city located further inland.

5.  Ocean currents transport energy from the warm tropics to colder regions at polar 
     latitudes.  This is an example of which energy transport process?

6.  The energy associated with the haphazard (random) motions of the atoms or 
      molecules in air is 

      a. specific heat

b. kinetic energy
c. latent heat

d. temperature

7.  Metals often feel cold to the touch because metals have high

       a. latent heat
b. specific heat
c. density
d. thermal conductivity

8.  Match each of the descriptions below with one of the energy transport processes below.  

     Diamonds feel cold to the touch because they quickly transport energy from your hand by

     _______.  You feel cold when stepping out of a pool on a warm dry day because of _______ 

     energy transport.  You feel colder on a windy day than on a day with calm winds because of     

     increased energy transport away from your body by _______.  




     a. conduction
b. convection

c. latent heat

d. electromagnetic radiation
9.   Energy added to water could be used to________________ or ________________

      the water.
10.  The formation of frost on a cold morning is an example of _______.  A bathroom
       mirror that fogs up during a hot shower illustrates _______.  A piece of dry ice left in 
       a room will slowly disappear because of _______.  The bubbling of liquid nitrogen 

       is _______.  (fill in the blanks with one of the choices below)

       a. condensation

b. deposition

c. evaporation

       d. freezing

e. melting

f. sublimation
